FAVOURABLE CONTEXT - T -
ITS AUSPICIOUS LOCATION | -

Auspicious setting at St. Lawrence - Ottawa
River confluence, one of Nine Sisters granitic
intrusions
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™ i . THE PROTECTION OF EARTH’'S VITALITY, DIVERSITY AND BEAUTY IS A

. / A SACRED TRUST. THE SPIRIT OF HUMAN SOLIDARITY AND KINSHIP WITH

M ALL LIFEKE IS STRENGTHENED WHEN WE LIVE WITH REVERENCE FOR THEK

MYSTERY OF BEING, GRATITUDE FOR THE GIFT OF LIFE, AND HUMILITY
New park/eco-preserve and agriculture spaces REGARDING THE HUMAN PLACE IN NATURE.

define community boundaries The Nine Sisters THE EARTH CHARTER, 1992.
Regional Context
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Roundabout

New Interchange Turcot Plan (Context Sensit
Continuous elevated roadway and intersection leaving space for pe
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New Airport boundary
New Terminal and Parking SR A
Only full view to Mont-Royal | %gr - % o=k
New Airport Interchange e !
Dorval Community
Lachine Community
Highway Salt Treatment Marsh v
Communter Train £
Agriculture on Former Primelands
. Woods
. Redesigned Dorval Interchange
. Redesigned St-Pierre Interchange
. Redesigned Turcot Interchange
. New Lachine Green Boulevard
. St-Jacques Escarpment Park / Ecological Preserve
. Living Vertebrae
. New Canal-Aqueduct Confluence
. St Lawrence River Shore
. Restaured Otter Lake
. Pedestrian and Cycle Trails
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Master Corridor Plan Scale 1: 13 600
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